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MBIBIES LWNAE - FRLET (BREIE) ¥HEHRER (RBHEE)
I & 2 o3l # B B # = B =
EEFE LS
BIREE &R
RE i}
B ERNLET
(4D m 34.42
TR T
m3 0.03
TViHET
(B4R m 33.52
MR ERE = 1
BT E
KEBT 1K FTS545 150 EN 4.00 HKXEFHK
1K TS5 6200 {Err —
1K TS5 ¢250 {Err —
XE
1K TS5 4 ¢ 250 EN 1.00| HmKERTE
1K TS5 4 ¢ 300 EN 1.00| HKERTE
1K TS5 4 ¢350 {Err —
kK FS5 4 ¢ 400 {Err —
1K TS5 4 ¢ 450 {Err —
kK FS5 4 ¢500 {Err —
ERLETL ELZILERET
EILZIL {EFr 1
ELZILEFRET
HAE EN —
ELZIILEFRET
AR EN —
Rt EEHNET EN —
1EKALEE T ¢ 300 h[REBih
Ny h—Ii%) {Err 2 ES
1F/KMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1F/KMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1FKMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1F/KMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1F/KMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
MR ERE = 1
BT E
KEBT 1K FTS545 150 EN 4.00 HKXEFHK
1EKFTS5 5 ¢200 {Err —
1K TS5 ¢250 {Err —
XE
1K TS5 4 ¢ 250 EN 1.00| HKERTE
1K TS5 4 ¢ 300 EN 1.00| HmKERTE
kK TS5 4 ¢350 {Err —
1K TS5 ¢ 400 {Err —
1K TS5 4 ¢ 450 ER —
1EK TS5 45 ¢ 500 ERE —




BIRES LNRAE (BETIE) BERER EHEX)

I & #E Al M B B #%H = =
EEFE LS

BIZEZLA

i _
BIRERNELET
(BER) m 34.42
TVEHET
(BER) m 33.52
B = i
RfE

KETL kK TS5 45 9150 ER 4.00] wmKRERTEL
1K TS5 ¢200 ER -
1K TS5 ¢250 {Err -
E
1IkKFS5 45 @250 {Err 1.00| mKRERTEL
kK FTS5 45 @300 {Err 1.00| mKERTEL

1KTS5 Y5 ¢350 Gl -

"

1K TS YT ¢400 Gl -

1K TS5 YT ¢450 Gl -

1KTS5 5 ¢500 Gl -




¢300mmEE L FAT (BETE) BERER ERER)

& A # B B # = B =
£T
300mm

EETLAEHEL

(R - BRIE)
BAEMH m 34.42
RE: - 55AT m 33.52
E{L - BT m 33.52
TET
AEOYMT {EFr 2
HTET EOM4LEH
AEOLET {EFRr 2| 1.8kg/fEFR
Rt EOEARLELET [EFR —| UML)
RtEOEARLELET [EF 4] (58 - R®)
DEEOFAALET [{ERT 4] (58 - X)
REkfET
RE {EFRr 1
FET-a
BE {EFRr 1

BRI
MR ERE =® 1

BEELHEEKBT
RE5 - BREKE = 1

TEE

=® 1

mftE

KB WEKFS 5 150 {EFRr 4.00| wHKERTEK
KT S5 $200 {EFRr -
KT S5 $250 {EFRr -
XE }
KT S5 $250 {EFRr 1.00| & KR{ERTE
KT S5 $300 {EFr 1.00| & KR{ERTE
KT S5 $350 {EFr —
KT S5 $400 {EFr —
KT S5 $450 {EFr —
1K F S5 $500 {EFr —
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MBIBIES LWNAE - FRLET (BREIE) ¥HEHRER (ByhEE)
I & 2 o3l # B B # = B =
EEFE LS
BIREE &R
RE _
B ERNLET
(BE&RD m 480. 98
TR T
m3 0.42
TViHET
(BE&RD m 466. 96
MR ERE = 1
BT E
KEBT 1KFTS545 $100 EN 5.00 BEXKEFMHK
kKT S545 $150 EN 17.00| HKERTE
§£757¢m0 EN 4.00 HKREFHK
B
1K TS5 4 ¢200 EN 1.00| HmKERTE
1K TS5 4 ¢ 250 EN 1.00| HKERTE
1K TS5 4 ¢ 300 EN 1.00| HKERTE
kK TS5 4 ¢350 {Err —
kK TS5 4 ¢ 400 {Err —
1K TS5 ¢ 450 {Err —
ERLETL ELZILERET
EILZIL {EFr 4
ELZILEFRET
HAE EN —
ELZIILEFRET
AR EN 6
Rt EEHNET EN 22
1EKALIE T ¢ 200 HES SR
Ny H—TI%K) {Err — | EE
1EKALIE T ¢ 250 A[XEBi
Ny h—I%) {Err It E S
1EKALEE T ¢ 300 13| AEBih
Ny h—I%) {Err 1R ES
1FKMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1F/KMET ¢ —|xEB#
Ny H—TI%K) {Err — | EE
1EKALEE T ¢ 400 8([xEB
Ny h—I%) {Err M ES
MR ERE = 1
BT E
KEBT 1kKFTS545 $100 EN 5.00 BEXKEFHK
kK TFTS545 $150 EN 17.00| HKERTEK
1K TS5 4 ¢ 200 EN 4.00 HKXEFHK
XE
1K TS5 ¢200 {Err
1K TS5 4 ¢ 250 EN 1.00| HmKERTE
1K TS5 4 ¢ 300 EN 1.00| HKERTE
1K TS5 4 ¢350 {Err —
1K TS5 4 ¢ 400 ER —
1K TS5 ¢ 450 {&rr —




BIZRESLNAT(REIE) HERER (BHyhEE)
I & #E Al M B B #%H = =
EEFE LS
BIZEZLA
i
B ERNRET
(BER) m 480. 98
TVEHET
(BER) m 466. 96
e = i
RfE
KETL kK TS5 9100 ER 5.00| mKXIEFTER
1IkKFTS5 5 d150 ER 17.00| wKEFTEL
%i(?"%’]“(bzoo {Err 4.00] mKRERTEL
B
kK FTS5 45 @200 {Err 1.00| mKRERTEL
kK FS5 45 @250 {Err 1.00| mKERTEL
1ItKFTS5 45 @300 {Err 1.00| mKERTEL
1K TS5 4 ¢350 {Err -
kK FS5 4 ¢ 400 {Err -
1K TS5 4 ¢ 450 {Err -




P200mEE L FET (REITE) HERER (BBMEE)

& A # B B # = B =
£T
200mm
EETLAEHEL
(R - BRIE)
BAEMH m 61.15
RE: - 55AT m 59. 35
E{L - BT m 59. 35
TET
AEOYMT {EFr 4
HTET EOM4LEH
AEOLET {EFRr 4| 1.2keg/fEFR
Rt EOEARLELET [EFR —| UML)
tEOEAREET [ @R 10| (23 - &)
DEEOFAALET [{ERT 10| (23 - K)
eI E
RE {EFRr 2
FET-a
BE {EFRr 2
BRI
MR ERE =® 1
BEELHEEKBT
RE5 - BREKE = 1
TEE
=® 1
mftE
KB WEKFS5 100 {EFRr 1.00| & KREFTE
WEKFS 5 150 {EFRr 10.00| mAMERTER
KT S5 $200 {EFRr 1.00| & KR{ERTE
XE
KT S5 $200 {EFRr -
KT S5 $250 {EFr -
KT S5 $300 {EFr -
KT S5 $350 {EFr -
KT S5 $400 {EFr -
KT S5 $450 {EFr -




Pp250mmE E L BET (REITE) HERER (BBMEE)

& A # B B # = B =
T
250mm
EELNEHEEL
(R - BEIE)
BAEMH m 197. 63
RE: - 55AT m 190. 43
Bt - BT m 190. 43
TET
RKEOYMT {EFRr 16
T+tT EO4 LM
AEOLET {EFRr 16| 1. 5kg/{ERT
RGEOEAALET | @R —| (8ET)
RGEOEAALET | @R 24| (B8 - 1R)
DEEOEAALLET | BT 24| (B8 - K)
eI E
B {EFRr 8
RERET
BE {EFRr 8
BRI
MR ERE = 1
BEELFEKET
RE5 - BREKE = 1
TEE
= 1
B E
KETL kK FS545 100 {EFRr 6.00| EmK{EFTER
kK TS5 9150 {EFRr 17.00| & K{EFTEL
%{1};7"5’]‘%}5200 {EFRr 7.00] mK{EFTE
B
kK TS5 45 ¢ 200 {EFRr 1.00| & KR{ERTE
kK TS5 45 ¢ 250 {EFr 4.00] mKRIEFTE
KT S5 $300 {EFr —
KT S5 $350 {EFr —
KT S5 $400 {EFr —
KT S5 $450 {EFr —




P300MME = L BET (REITE) HERER (BBMEE)

& A # B B # = B =
I
300mm

EELNEHEEL

(R85 - BRI
BAEMH m 166. 80
RE: - 55AT m 162. 68
it - EET m 162. 68
TET
RKEOYMT {EFRr 8
TET EO4 LM
AEOLET {EFRr 8| 1.8keg/EFR
RGEOEAALET | @R —| (8ET)
RGEOEAALET | @R 37 (B8 - 1)
DEEOEAALLET | BT 37 (B8 - K)
eI E
B {EFRr 4
FET-a
BE {EFRr 4

BRI
MR ERE = 1

BEELHEEKBT
RE5 - BREKE = 1

TEE

= 1

B E

KET kK FS545 100 {EFRr 6.00| EmK{EFTER
kK TS5 9150 {EFRr 33.00| mKIEFTER
%{1};7"5’7“(1)200 {EFRr 5.00| mmK{EFTER

B

KT S5 $200 {EFRr —| mAERE
KT S5 $250 {EFr —| AERE
kK TS5 45 ¢ 300 {EFr 1.00| & KERTE
KT S5 $350 {EFr —
KT S5 $400 {EFr —
KT S5 $450 {EFr —




PA00MME = L BET (REITE) HERER (BBMEE)

& A # B B # = B =
I
400mm

EELNEHEEL

(R85 - BRI
BAEMH m 55. 40
RE: - 55AT m 54.50
it - EET m 54.50
TET
RKEOYMT {EFRr 2
TET EO4 LM
AEOLET {EFRr 2| 2. 4kg/{EFR
RGEOEAALET | @R —| (8ET)
RGEOEAALET | @R 19| (23 - &)
DEEOEAALLET | BT 19| (23 - K)
eI E
B {EFRr 1
FET-a
BE {EFRr 1

BRI
MR ERE = 1

BEELHEEKBT
RE5 - BREKE = 1

TEE

= 1

B E

KBTI WEKFS5 100 {EFRr —
WEKFS 5 150 {EFRr 17.00| & K{EFTEL
KT S5 $200 {EFRr 3.00| mK{EFTER
XE
KT S5 $200 {EFRr —
KT S5 $250 {EFr —
KT S5 $300 {EFr —
KT S5 $350 {EFr —
KT S5 $400 {EFr —
KT S5 $450 {EFr —




2vE—IT HERER BREIE) CEEEED)
TiE &7 e B HE e
v vikE—IVIT
AILAEBEET
BRREISMBET | @ 43
BENISMBRET il 56
ey =% 1
LIAERNRAE HEHER (BREIE) (BrhELE)
TiE 5 = By HE e
EREET
HIfEENEE
R ERET Bl 10
R = 1
AN
* = = —
KET k97 $150 BT 13 B AR
AN i L
LEKT5 7 $200 R 2 BAERRE
rE i L
LEKT5 7 §250 R 1 BAERRE
o
*E B 1 2 AEFH

kK752 ¢ 300




